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1. Options shown in green color with a tick icon are correct

2. Chosen option on top right of the question indicates the option selected by the candidate

3. The numbers indicated against the Question ID and Option ID are the numbers to be noted and used for raising objections
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Ans K 1. Do
X 2 60°
X 3.90°
v 4 180°
Question ID : 3026162661
Option 11D : 30261610641
Option 2 ID : 30261610642
Option 31D : 30261610643
Option 41D : 30261610644
Status : Answered
Chosen Option : 4
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FAT T F=?
ans X 1.7 881
< 2 7 893
< 3 3 897
v 4 7 891
Question ID : 3026162610
Option 11D : 30261610437
Option 2 ID : 30261610438
Option 31D : 30261610440
Option 4 ID : 30261610439
Status : Answered
Chosen Option : 4
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Question ID : 3026162637
Option 11D : 30261610546
Option 2 ID : 30261610547
Option 31D : 30261610548
Option 4 ID : 30261610545
Status : Not Attempted and Marked For Review
Chosen Option : --
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Question ID : 3026162660
Option 11D : 30261610639
Option 21D : 30261610637
Option 31D : 30261610640
Option 4 1D : 30261610638
Status : Answered
Chosen Option : 4
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Question ID :

Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

3026162687
30261610745
30261610746
30261610747
30261610748
Answered

Chosen Option : 1

Ans < 1. 20000
v 2. 19600
< 3. 25000
# 4 18400

¥ GffeT & @ R wEw F umwest & GEar Aww gene

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

3026162608
3026161043
3026161043
3026161043

0
1
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30261610429

Not Attempted and Marked For Review
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

3026162603
30261610410
30261610412
30261610409
30261610411
Answered

Chosen Option : 2
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Question ID : 3026162640
Option 11D : 30261610560
Option 2 ID : 30261610558
Option 31D : 30261610557
Option 4 1D : 30261610559
Status : Answered
Chosen Option: 1
Q.9 3 3, 7, 0 T 9 ¥ AT I 3 H gaw 91 AN wEW S GEAT F Haw F47 29T I H@ear o
ST FT 9T BF o & oawoEn
Ans X 1. 5661
< 2. 5994
X 3 6624
v 4 6651
Question ID : 3026162601
Option 11D : 30261610403
Option 2 ID : 30261610404
Option 31D : 30261610402
Option 41D : 30261610401
Status : Answered
Chosen Option : 4
U =7 Faw ord wEar B 2800 ¥ weW WY 9T Hear IOt &t e, ww g
Ans of 1. 96
X273
< 3 89
X 49
Question ID : 3026162605
Option 11D : 30261610418
Option 2 ID : 30261610420
Option 31D : 30261610419
Option 4 ID : 30261610417
Status : Answered
Chosen Option : 1
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X45
Question ID : 3026162651
Option 11D : 30261610601
Option 2 ID : 30261610602
Option 3 D : 30261610604
Option 4 D : 30261610603
Status : Answered
Chosen Option : 2
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Question ID : 3026162616
Option 11D : 30261610463
Option 2 ID : 30261610462
Option 3 ID : 30261610464
Option 4 ID : 30261610461
Status : Answered
Chosen Option : 2
Q; The global radiation reaching a horizontal surface on the earth is given by:
Ans X 1. Hourly beam radiation - Hourly diffuse radiation
/< 2. Hourly diffuse radiation / Hourly beam radiation
/< 3. Hourly beam radiation / Hourly diffuse radiation
« 4 Hourly beam radiation + Hourly diffuse radiation
Question ID : 3026162665
Option 11D : 30261610658
Option 2 ID : 30261610660
Option 3 ID : 30261610659
Option 4 D : 30261610657
Status : Answered
Chosen Option: 3
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Question ID :
Option 11D :
Option 21D :

Option 31D :
Option 41D :
Status :

3026162681
30261610722
30261610721
30261610724
30261610723
Answered

Chosen Option : 3

What is the smallest positive integer x such that /384x is an integer?
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Ans «1. 6
X23
X35
X 42

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

3026162606

30261610424
30261610422
30261610423

30261610421
Not Attempted and Marked For Review
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

3026162679
30261610716
30261610713
30261610714
30261610715
Answered
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

3026162685

30261610740
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30261610738




Status : Answered
Chosen Option : 4
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Question ID : 3026162691
Option 11D : 30261610763
Option 2 ID : 30261610762
Option 31D : 30261610764
Option 4 1D : 30261610761
Status : Answered
Chosen Option : 2
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Ans Xl 15
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v 12
X4 8

Question ID : 3026162612
Option 11D : 30261610445
Option 2 ID : 30261610446
Option 31D : 30261610448
Option 4 ID : 30261610447
Status : Answered
Chosen Option : 3
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Ans X 1.5:6
X216 : 25
XK32:3
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Question ID : 3026162622
Option 11D : 30261610486
Option 2 ID : 30261610487
Option 31D : 30261610485
Option 4 1D : 30261610488
Status : Not Attempted and Marked For Review
Chosen Option : --
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Question ID : 3026162624
Option 11D : 30261610493
Option 2 1D : 30261610496
Option 31D : 30261610494
Option 4 ID : 30261610495
Status : Answered
Chosen Option : 4
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Question ID : 3026162625
Option 11D : 30261610499
Option 2 ID : 30261610497
Option 31D : 30261610498
Option 4 1D : 30261610500
Status : Answered

Chosen Option :
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Question ID : 3026162632
Option 11D : 30261610528
Option 2 ID : 30261610527
Option 31D : 30261610525
Option 4 ID : 30261610526
Status : Answered
Chosen Option : 3
Q2 .+ ; .
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10162537, 7
as X170
< 2 55
v 3 52
X 4 60
Question ID : 3026162636
Option 11D : 30261610541
Option 2 ID : 30261610542
Option 31D : 30261610544
Option 41D : 30261610543
Status : Answered
Chosen Option : 3
Q2 v zufFa 80 km &7 T i Fr W 2 W F Of = F FIw Twend F @y Fo gl dew 9w e
S % 7Ry 3wy IOEE T A 100 kmihr T dewT AT 20 kmvhr B T & A, A TS & 9T A
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Ans - X 1. 60 km
v 2 50 km
< 320 km
X 4 30 km
Question ID : 3026162615
Option 1 ID : 30261610457
Option 2 ID : 30261610459
Option 31D : 30261610458
Option 4 ID : 30261610460
Status : Answered
Chosen Option : 2
Qéz ‘High’ is related to ‘low” in the same way as ‘mountain’ is related to:
Ans X 1. lane
25 2. square
W 3 valley
X 4 land
Question ID : 3026162626
Option 11D : 30261610503
Option 2 ID : 30261610501
Option 31D : 30261610502




Option 4 ID : 30261610504
Status : Answered
Chosen Option : 3
22 AL,0;, + NaOH + H,0 —
Ans o 1. NaAl (OH), (aq)
< 2. NaClH;0, (aq)
/< 3. NaClH;04 (s)
< 4 NaAl (OH), (s)
Question ID : 3026162670
Option 11D : 30261610678
Option 21D : 30261610680
Option 31D : 30261610677
Option 4 ID : 30261610679

Status : Answered
Chosen Option : 1
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Question ID : 3026162663
Option 11D : 30261610650
Option 21D : 30261610651
Option 3 1D : 30261610652
Option 4 1D : 30261610649

Status : Answered
Chosen Option : 4
2 T 7 =T # 10% c; T 10% Ey I
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Ans 1. 15.2
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Question ID : 3026162623
Option 11D : 30261610491
Option 2 ID : 30261610490
Option 3 1D : 30261610492
Option 4 1D : 30261610489

Status : Answered
Chosen Option : 4
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X 2.7 600
<3 3625
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Question ID : 3026162609
Option 11D : 30261610434
Option 2 ID : 30261610433
Option 31D : 30261610436
Option 4 ID : 30261610435
Status : Answered
Chosen Option : 4
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Question ID : 3026162686
Option 11D : 30261610744
Option 2 ID : 30261610743
Option 31D : 30261610741
Option 4 1D : 30261610742
Status : Not Answered
Chosen Option : --
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Question ID : 3026162682
Option 11D : 30261610727
Option 2 ID : 30261610726
Option 31D : 30261610728
Option 4 1D : 30261610725
Status : Answered
Chosen Option : 4
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< 2 50 m/sec?
#3100 misec?
X 4 30 m/sec?

Question ID
Option 1 ID
Option 2 ID
Option 3 ID

Status
Chosen Option

Option 41D :

: 3026162659

: 30261610633
: 30261610636
: 30261610635
30261610634
Answered
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Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.

Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID
Status :

Chosen Option :

Question ID :
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

3026162672
30261610685
30261610686
30261610688
30261610687
Answered
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for all candidates.

Note: For this question, discrepancy is found in question/answer. So, This question is ignored

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :

3026162657

30261610627
30261610628
30261610626
30261610625

Not Attempted and Marked For Review
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

3026162677
30261610707
30261610705
30261610708
30261610706
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2

3 @ Fuit F Eenfea am
Ans x-l_ m
X2 ar
V'3 =T
X 4 g

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

3026162694

30261610774
30261610775
30261610773
30261610776
Not Answered
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2 38, 10
3 42, 28
4 36, 12

for all candidates.

Note: For this question, discrepancy is found in question/answer. So, This question is ignored

Question ID : 3026162618
Option 11D : 30261610472
Option 2 ID : 30261610470
Option 31D : 30261610469
Option 4 ID : 30261610471
Status : Answered
Chosen Option : 4
Q.4 ¢ .
o COy % 44 g & His[g COp & upst Fr §&ar @i 2
Ans
11,02 x 1023
X2 301 x 1023
V'3 602 x 1023
X4 202 x 1023
Question ID : 3026162667
Option 11D : 30261610667
Option 2 1D : 30261610666
Option 31D : 30261610665
Option 4 1D : 30261610668
Status : Answered
Chosen Option : 3
U4 iz @7 oo s § & act & o 3ee % T Bod g gl
Ans x
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2
W 2. TIA] GedHATed
3. ITATI] FHHTH
X 4. AT AR
Question ID : 3026162674
Option 11D : 30261610696
Option 2 ID : 30261610694
Option 31D : 30261610693
Option 4 ID : 30261610695
Status : Answered

Chosen Option: 2
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X 4 945
Question ID : 3026162611
Option 1 ID : 30261610441
Option 2 ID : 30261610443
Option 31D : 30261610444
Option 4 ID : 30261610442
Status : Answered
Chosen Option : 3
Q.4 ¥
3 h & AT AT FLI
1) IfE n wpfas Tt @ I@eT 5050 F
¥ ni{n+1
2) n STpfaw wEmst & AT s, =222, S, §
Ans . 5
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Question ID : 3026162643
Option 11D : 30261610572
Option 21D : 30261610571
Option 31D : 30261610570
Option 41D : 30261610569
Status : Answered
Chosen Option : 4
Q4 = # ¥ 5w wigy RAEsea, T=asia @evERr MR AE T seUE & TEUTOE # g & H
T8 ¥ gEATe fohar T 87
Ans
1.
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K4 oirshr e
Question ID : 3026162689
Option 11D : 30261610755
Option 2 1D : 30261610754
Option 31D : 30261610756
Option 41D : 30261610753
Status : Not Answered
Chosen Option : --
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Ans xl :Hﬁ-

Chosen Option :

X 2 g wfer
v o o B
X 4 Fafesw gfer
Question ID : 3026162695
Option 11D : 30261610779
Option 2 ID : 30261610777
Option 31D : 30261610778
Option 4 ID : 30261610780
Status : Answered
Chosen Option : 3
Qé4 37 I T T ARG AT K, FEH JeeT Fewsw F 3gfeq 800 Hz 3R Ay 420 mis B
ans of 10525 m
22 0500 m
/30425 m
< 4 0.800 m
Question ID : 3026162664
Option 11D : 30261610654
Option 2 ID : 30261610653
Option 31D : 30261610656
Option 4 ID : 30261610655
Status : Answered
Chosen Option : 1
U B arnm AR I g A sxds m @ afem deT w3 @ o ¥4
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Ans x
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X s =T
W 4 gIeHTT
Question ID : 3026162700
Option 11D : 30261610799
Option 2 1D : 30261610797
Option 31D : 30261610800
Option 41D : 30261610798
Status : Not Answered
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Question ID : 3026162690
Option 11D : 30261610757
Option 2 1D : 30261610759
Option 31D : 30261610758
Option 4 1D : 30261610760
Status : Answered
Chosen Option: 1
Q4 Fr=r fow wv 3= st § @ wiT @ B sl g, w6 ik o, B e oo, R, @i ek
9 e e e oT A WE G W qear 12
Ans
X
X2
“ 3. @
x 4- .
Question ID : 3026162650
Option 11D : 30261610600
Option 2 ID : 30261610598
Option 31D : 30261610597
Option 4 1D : 30261610599
Status : Not Answered
Chosen Option : --
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

3026162639
30261610553
30261610556
30261610554
30261610555
Answered
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

3026162699
30261610793
30261610795
30261610794
30261610796
Answered

Chosen Option : 2
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X 4 35
Question ID : 3026162652
Option 11D : 30261610607
Option 2 1D : 30261610608
Option 31D : 30261610605
Option 4 1D : 30261610606
Status : Answered
Chosen Option : 3
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

3026162678
30261610710
30261610712
30261610711
30261610709
Answered

3
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

3026162669
30261610673
30261610674
30261610675
30261610676
Answered

Chosen Option : 3
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Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

Status:

: 3026162649

: 30261610594
: 30261610596
130261610595
130261610593

Answered




Chosen Option : 2

ans X 1. TOMHER

Q.5 s 9w Fe #, BARLEY 1 RABYEL fo@r =mam &, MOTHER & 38 %z # ford s fomgm smdem?
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Chosen Option :

< 2. EHTOMR
v : TOMREH
< 4 REHTOM
Question ID : 3026162631
Option 11D : 30261610522
Option 2 1D : 30261610524
Option 31D : 30261610521
Option 4 1D : 30261610523
Status : Answered
Chosen Option: 3
Q.5 10 em T¥=ar I v 3 g # RAger FT 2 em = AT @ A F e @R 1 wveng
7 F %) 5 veR B 5% s
Ans 1. 200
V2 125
X3 25
X 4120
Question ID : 3026162619
Option 11D : 30261610476
Option 2 ID : 30261610475
Option 31D : 30261610474
Option 4 ID : 30261610473
Status : Answered
Chosen Option: 2
Q5 _- ;
o TUST FaF T ey
Ans x 1 FE ﬁ { ﬁ E}
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v 3 AegSAEaT (AEEE)
X 4 HedH-AeO=aEaT (TE-HEEH)
Question ID : 3026162676
Option 11D : 30261610703
Option 2 1D : 30261610702
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Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.
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0{37 The highly sophisticated procedure of directly injecting a sperm into an egg is called:
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